
 UNIT-II 

SOLUTION 

¼foy;u½ 
(A) Question containing 1 marks. 

1) What is vant Hoff factor for Nacl in aqueous solution ? 

Nacl ds tyh; foy;u dk oS.V gkWQ xq.kd D;k gS \ 

2) What is Isotonic solution ? 

Leijkljh foy;u D;k gS \ 

3) What is an ideal solution ? 

vkn'kZ ?kksy D;k gS \ 

4) Give one example of Non-ideal solution ?  

vukn'kZ foy;u dk ,d mnkgj.k nsaA  

5) Define Mole fraction. 

?kksy fHkUu dh O;k[;k djsaA  

6) What do you mean by relative lowering of Vapour pressure ?  

ok"inkc ds vkisf{kd voueu ls D;k le>rs gSaA  

7) Give one example of solid solution. 

Bksl foy;u dk ,d mnkgj.k nsaA  

8) What is unit 0f Molarity ? 

eksydrk dh bdkÃ D;k gS \ 

9) What is reverse osmosis ?  

Áfrykse ijklj.k D;k gS \ 

10) Write equation for osmatic pressure ? expression for OS motic pressure. 

ijklj.kh nkc dk lehdj.k fy[ksaA  

11) Which of the following correctely represents Henry’s law :- 

(a) m = KH.P   (b) XA = KH.PA 

(c) PA = KH.XA   (d) All of theses. 

fuEufyf[kr esa ls dkSu gsujh ds fu;e dks fu:fir djrk gSA  

(a) m = KH.P   (b) XA = KH.PA 

(c) PA = KH.XA   (d) lc ds lcA  

 



12) Solubility of gas in liquid increases with – 

(a) Increase of Pressure & increases of Temperature. 

(b) Decrease of Pressure & increase of Temperature. 

(c) Increase of Pressure & decrease of Temperature. 

(d) Decrease of Pressure & Temperature. 

ty esa xSl dh ?kqyu’khyrk c<+rh gS  

(a) rkiØe ,oa nkc c<+kus ij  

(b) nkc ?kVkus ij ,oa rkiØe c<+kus ij  

(c) nkc c<+kus ij ,oa rkiØe ?kVkus ij  

(d) nkc ,oa rkiØe ?kVkus ijA  

 

13) In liquid Ccl4. Which of the following has maximum solubility ? 

(a) Cl2    (b) Br2 

(c) I2    (d) Nacl  

æo esa dkSu lk lcls vf/kd ?kqyu’khy gSA  

(a) Cl2    (b) Br2 

(c) I2    (d) Nacl  

 

14) Which pair from the following will not form an ideal solution ? 

(a) Ccl4 + Sicl4   (b) H2O + C4H9OH 

(c) C2H5Br + C2H5I   (d) C6H14 + C7H16 

fuEufyf[kr esa ls dkSu lk tksM+k vkn’kZ foy;u ugha gSA  

(a) Ccl4 + Sicl4   (b) H2O + C4H9OH 

(c) C2H5Br + C2H5I   (d) C6H14 + C7H16 

 

15) Which is not a colligative property ? 

(a) Freezing point   (b) Lowering of vapour pressure. 

(c) Osmatic pressure  (d) Elevation of boiling point. 

buesa ls dkSu lk v.kq la[;d xq.k ugha gSA  

(a) fgekad fcUnq    (b) ok"i nkc dk voueu 

(c) ijklj.k nkc    (d) DoFkukad dk mUu;uA  

16) The osmotic pressure of a solution is given by the equation 

(a) π  = ST/C   (b) π  = CT/S 

(c) π  = SC/T   (d) π  = ST 



fdlh foy;u ds ijklj.k nkc dk lehdj.k gSA  

(a) π  = ST/C   (b) π  = CT/S 

(c) π  = SC/T   (d) π  = ST 

 

17) Isotonic solution have  

(a) Same boiling point  (b) Same vapour pressure 

(c) Same melting point  (d) Same osmatic pressure 

leijklkjh foy;u esa gksrk gS  

(a) leku DoFkukad  (b) leku ok"i nkc  

(c) leku æo.kkad   (d) leku ijklj.kh nkcA   

18) As a result of osmosis, the volume of solution  

(a) decreases   (b) Increases 

(c) not affected   (d) All of these 

ijklj.k ds dkj.k foy;u dk vk;ru  

(a) ?kVrk gS   (b) c<+rk gS  

(c) dksÃ vlj ugha   (d) ;s lcA  

 

19) The vant Hoff factor more than unity indicates that solute in solution is :- 

(a) dissociated   (b) Associated 

(c) both    (d) None of these 

oS.V gkSQ xq.kd dk ,d ls T;knk gksuk crykrk gS fd foy;u esa foys; dk gqvk gS  

(a) laxq.ku    (b) fo;kstu  

(c) nksuksa     (d) dksÃ ughaA  

20) Which of the following is not affected by Temperature 

(a) Molarity   (b) Molality 

(c) Normality   (d) All of these 

fuEufyf[kr esa ls fdl ij rki dk vlj ugha gksrk gSA  

(a) xksyjrk    (b) eksyyrk  

(c) ukWeZyrk    (d) lcA  

 

 

 

 



(B) 2 marks Question. 

21) What is difference between osmosis & diffusion ?  

ijklj.k vkSj folj.k esa D;k vUrj gS \ 

22) What do you mean by Molarity ? How it is affected by Temperature ? 

eksyjrk ls D;k le>rs gSa \ bl ij rki ds ÁHkko dk o.kZu djsaA  

23) Calculate the vant Hoff factor for K2SO4 solution, if it is completely dissociated. 

K2SO4 ds oS.V gkSQ xq.kd dh x.kuk djsa ;fn ;g ?kksy esa iwjh rjg fo?kfVr gksA  

24) Compare between Ideal & Non-ideal solution.  

vkn'kZ ,oa vukn’kZ foy;u esa vUrj crkosaA  

25) What is constant Boiling mixture ? Give example. 

fLFkj DokFkh feJ.k D;k gS \ mnkgj.k nsaA  

26) Define Molality and how it  differs from Molarity ? 

eksyyrk fdls dgrs gSa \ ;g eksyjrk ls fdl rjg fHkUu gSA  

27) Calculate the mass of a non-volatile solute (Molar mass = 40) which should be dissolved in 114g octane to 

reduce the vapour pressure to 80 %. 

,d vok"i'khy foys; ¼eksyj Hkkj ¾ 40½ dh fdruh ek=k 114 xzke vkWDVsu esa feykus ij 

mlds ok"i nkc esa 80% deh gksxhA  

28) Write Raoult’s law for Vapour pressure of solution of volatile and Non-volatile solute. 

ok"i'khy ,oa vok"i'khy foys; ds ?kksy ds ok"inkc ls lacaf/kr jkSYV ds fu;e dks fy[ksaA  

29) 25g of ethanoic acid is dissolved in 75g of benzene. Calculate the Molality of solution.  

75 xzke csUthu esa 25 xzke bFkSuksbd vEy ?kqyk;k x;k gSA ?kksy dh eksyyrk Kkr djsaA  

30) a) What do you mean by elevation of boiling point ? 

b) What is cause of elevation in boiling point ?  

a) DoFkukad ds mUu;u ls D;k le>rs gSa \ 

b) DoFkukad ds mUu;u dk dkj.k D;k gS \ 

31) state Raoult’s law for elevation of boiling point.  

DoFkukad ds mUu;u ls lacaf/kr jkSYV ds fu;e dks fy[ksaA  

32) What do you mean by Abnormal Molecular Masses ?  

vilkekU; vkf.od æO;eku ls D;k le>rs gSa \ 

33) What are charactrestics of Non-ideal solution  ? 

vukn'kZ foy;u dh fo’ks"krk crk,¡A  

34) Draw a graph between Vapour pressure & Temperature for a solvent & dilute solution.  

foyk;d ,oa ruqfoy;u ds fy, rkiØe ,oa ok"i nkc ds chp dk xzkQ cuk,¡A  



35) Why do gases always tend to be less soluble in liquids as the temperature is raised ?  

rkiØe c<+kus ij æo esa xSl ds ?kqyu’khyrk esa deh D;ksa vkrh gS \  

 

(C) 3 marks Questions. 

36) State and explain Henry’s law. 

gsujh ds fu;e dh O;k[;k djsaA  

37) (a) what do you mean by Colligative property ? 

(b) What are different Colligative property ?  

(a) vuqla[;d xq.k fdls dgrs gSa \ 

(b) fofHkUu vuqla[;d xq.k dkSu ls gSa \ 

38) What is meant by positive & negative deviation from Raoult’s law for non-ideal solution ? 

vukn'kZ foy;u esa jkmYV ds fu;e ls ?kukRed foy;u ,oa _.kkRed fopyu ls D;k 

le>rs gSa \ 

39) Calculate the Osmotic pressure of 5 % solution of cane sugar at 15
o
c.  

dsu lqxj ds 5 foy;u dk 15
o
c ij ijklj.kh nkc Kkr djsaA  

40) What are laws of osmatic pressure ? 

ijklj.kh nkc ds fu;e D;k gSa \ 

41) Addition of 0.643g of a compound to 50ml of benzene (density = 0.879 gml
-1

) lowers the freezing point 

from 5.51
o
c to 5.03

o
c. if Kf for benzene is 5.12 kmol

-1
, calculate the mol.mass of the compound. 

50ml csUthu ¼?kuRo ¾ 0.879 gml
-1½ esa 0-634g ;kSfxd feykus ij mldk fgekad fcUnq 5.51

o
c  ls 

?kV dj 5.03
o
c gks tkrk gSA ;kSfxd dk vkf.od Hkkj Kkr djsaA csathu dk Kf = 5.12 kmol

-1
 

42) Write Raoult’s law for elevation of boiling point.  

DoFkukad ds mUu;u ls tqM+s jkmYV ds fu;e dks fy[ksaA  

43) What is reverse osmosis ? How it is useful ? 

Áfrykse ijklj.k D;k gS \ bldh D;k mi;ksfxrk gSA  

44) At what temperature will a 5 % solution of glucose develop an osmotic pressure of 7 atm. (mol.mass of 

glucose = 180)  

fdl rkiØe ij Xyqdkst ds 5% foy;u dk ijklj.kh nkc 7atm gks tk;sxkA  

¼Xyqdkst dk vkf.od Hkkj ¾ 180 xzke½  

45) A 5 % solution of cane sugar in water has freezing point of 271 K. calculate the freezing point of 5 % glucose 

in water if freezing point of pure water is 273.15 K.  

dsu lqxj ds 5% tyh; foy;u dk fgekad 271K gSA Xyqdkst ds 5% tyh; ?kksy dk fgekad 

Kkr djsa vxj 'kq) ty dk fgekad 273.15K gSA  



46) Define Isotonic solution, Hypertonic solution and hypotonic solution. 

leijklkjh] vfrijklkjh ,oa vFk% ijklkjh foy;u dh O;k[;k djsaA  

47) A solution is obtained by mixing 300g of 25% solution and 400 g of 40 % solution by mass. Calculate the 

mass percent of resulting solution. 

Hkkj ds fglkc ls 25% foy;u dk 300 xzke ,oa 40% foy;u dk 400 xzke feykdj ,d 

foy;u cuk;k x;k gSA bl foy;u dk æO;eku Áfr’kr Kkr djsaA  

(D) Long answer type questions (5 marks). 

48) (a) What do you mean by depression of freezing point. 

(b) Derive equation for depression in freezing point.     2 + 3 = 5 

(a) fgekad ds voueu ls D;k le>rs gSa \ 

(b) fgekad ds voueu ls lacaf/kr lehdj.k dk o.kZu djsaA   

 


